


e &, 8
Mﬂﬁ&mﬁmﬁﬁqwmﬁnﬂtﬁﬁﬁﬁqﬁ?ﬂﬁwmmﬁmw
Wqﬁiﬁiwﬁmfwﬁ@aﬁmmﬁéﬁ_mu%mﬁ?

(a) TATESR HTHHY (b) Rede & w1a

(€ 3y wirgs (d) uRadeTe smaf o Powerpoint
Which option can be used to set custom timings for slides in a presentation, to make M
automatically flip slides in sync with your speeches ?

(@)  Slider Timings &(2)// Rehearse Timings

()  Setup Slide show (‘dT Transition Duration

=T s wRear R -

23@ + 5@ + 1@4@ + 4@ + 18@ = 154@

@ g 5w sies wt eafar @ 2

Consider the following expression :

23@ + 5@ + 1@4@ + 4@ + 18@ = 154@

Symbol @ stands for which digit ?
(@ 2 b 1 M (d)> 3

qa;aﬂz_ﬁ,ﬁgﬁwﬂaﬁﬁﬁsﬁmaﬁ?;ﬁm%aﬂu{ﬁaaﬁmmﬂwh%lHﬁﬂgﬁaﬁmaﬂloﬂﬁ
&t Jgd a1 8, A 98 fras g9y & el & &R ug™ U ?

(a) Age 25 Gehs @ oft b T H S o SRR UGl 81
(b) Ager 30 Yeve @ 3if wa F SN & SRITR UgaT o
(c) Bge 25 dehs 7 snfeer & SRR Ugadl ¢l

(d) Ager 30 ¥E H e & SR TG &

In a race, Mehul touches the finish line in 60 seconds and beats Aditya by 20 seconds. If Mehul gives
Aditya a head start of 10 seconds, then in how much time will he be able to catch up with Aditya?

(a) Mehul catches up with Aditya in less than 25 seconds.

(b) Mehul catches up with Aditya in more than 30 seconds.

Mehul catches up with Aditya in 25 seconds.

Mehul catches up with Aditya in 30 seconds.
P.T.O.

PG-01/B 9



41.

42,

43,

g STEl e aTATaRUT T §IR gy 25
(ay Sfad BH-218E Yarg

(b)  fvEroT HETaeh W Y Rifer
(c) & IIATHA

(d) AT gRomE
What is the essence of an effective Classroom .
(a) Vibrant student teacher interaction

(b) Variety of teaching aids

(c)  Strict discipline

(d) Evaluation results

ﬁﬁmmm(ﬁw)mﬁﬁa?

Sl i (b)  arfard fiam

(c) gof smfery (d) SifRrpRY fr grem

Which of these is not mentioned in Person with Disability (PWD) Act ?
(a) Equal Opportunity (b Compulsory Education
(c)  Full Participation (d) Protection of rights

S & e o 1 R a6 e bk fRvameff o Prerfoifere & & R Rstaar @t axrfar & 2
(a) s fAa (b) e Rwm
(c) = e (d) TS R

Moving from abstract to concrete thinking represents which of the following characteristics of an
adolescent learner ?

(@f Social Development (b~ Intellectual Development

(c)  Moral Development (d) Emotional Development

%&rmmﬁaﬂ@mmwmmﬁmﬁ%@a?ﬁa?

(a) HEAF IRy (b) HegHA

() Fdernfafafeat (d) w@-geaie

Which of the following components of instruction is not aligned with effective teaching ?
—

(@)  Learning Objectives (b) Assessment

(e Instruction activities ~ (d) Self Appraisal

PG-01/B 12



1 36.

40.

R st o g v et el 8
G_TT L

PR R Frge wife afafd & sy it efaRrt & are ok Rrega samaed T
SHTST U & R 2 |
(@) wfdes (b)  Sidheror (c) uRarg (d) SR

ﬁmﬁi’@aﬁﬂamé;qmmmmﬁﬁﬁ-

(@) YT STST T Sraremrer 33 Y T HL

(b)  STST ST Srerehrer goram 33 &Y gpam

8 SITST ST Sreter 29 Y T o

(d)  STST T FHugT Sraenrer 37 §H HuT HL )

"AEATRIET T G e 2:-
(@) FECHOTHET  (bf TEOTHE () FEEwoTHET  (d) edSTE
Fefeafad areat wf 98 = 3 srag &2 |
. &9 Y 99 a1 9ifeu
(@) g G & 9k ag of wE e
(k) o & arer st @, 1= ok uReg
(@) &Yt s & ok 3ud Py sgd g a&
(@) e wrTE S <t e spfeat
. s & SeRarft & |
@, @), @@ 6 @ @@ 0 ¢ @@C,@ @ @, @ @), E

Prfafld qerad/deiial @ gad Suged o & ary Fer @ |
St o sgR, die 99 a5t §t” &1 aref -

(a) oY I 3G AR B HT AMEY

(b) o & ger-age &vd el oY

(¢ T aTe e A e depe & 7 the g

) e i aeg it et iR aoft w g ARy ¢

11
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5. F=afofe 4 @ o o gresfie & wge 1o taes adi 2 2

Which one of the following is NOT a mathematical function used in spreadsheet ? :
@ sumMm() (b) ROUND () (¢f LINE () (d) COUNTIF () S N
. 3 "‘b
5 HED
%>

6. @l 3Ty Temaff P afik Q &1 LCM, (P > Q) 1073 &1 2} wivamraif & e aam iR & ?
LCM of two prime numbers P and Q, (P > Q) is 1073. What is the difference between the twi

numbers ?

(@) 8 b) 12 {e) 6 (d)
7. TR ANSH" 1z a1 ared R E ? e
(a)  wIOHT Y Bie o ey T AfSf # witer s &1 ok \é«\\

(c) ST St fife oea T U8 & agfE et & siter sirar 21

(d) =T S e o=a o970 g8 & S1ER ST SidT gl

What does the term "gutter margin" refer to ?

(a) Margin that is added to the left margin when printing.

(b) Margin that is added to the right margin when printing.

(ﬁ Margin that is added to the binding side of page when printing.

(b) WIS 7 e e e e A A steromar Lol j
5\

(d) Margin that is added to the outside of the page when pﬂging. . =
g AT,
. A ./(B \04@? /?
8. IS H@e A g UG A Hifeig| ey w3 e |
- 3 RS

Find the missing term in the given series. A s
i & ﬂ "y j@'-]

2,9/2,28/3,65/4, S
(a) 126/5 M5/5 Z) 113/5 d) 15

9. g HE A" £ TR R WA S R iR T (&

@ e e (b) T S A
(c) g duHifa d) gt @ i

The "National Credit Framework" has been formulated to fulfil the vision of :

(a) National Education Policy (b) New industrial Policy A ;s‘ ; i

: i
(c)  Biofuel Policy (d) National HealthPolicy < < ”

— — ey —
PG0I/B \a dic, T a0 = A 8



o r 1

e AT g wTar A, "INDIA" & "HMCHZ" forar arar 1 9o gz wirn & "CONSTRUCT! i &g forar 1|
T ? l

In a certain code language, “INDIA” is written as “HMCHZ"”. How will “CONSTRUCT” be written |

in the same code language ? \

(@) BNSQTMRBS (b) MRSBNQTAP (gy BNMRSQTBS (d) BNQTMRSAT 1
A-q-2 =553 116 B

g afm & w A el s R at: D o L

(1) @ df AR wuelt w smuifa dwfir wen = &) A2 /;égﬁ?}‘%(p'zf |

() & ufim dmer i aifRem @t @ shrams & s o 31 R |

SR Ry g T A & D A@/E e B/ 2

@ () (b) () ©, ORI @ a3t (1) IRAH )
|

Consider the following statements with respect to the “Pattachitra” painting : W\ 6 - |

(1) These paintings are popular art form based on temple traditions. ﬁé \ ﬂ"sé' |
Lt

(2) These have received Gl tag from both West Bengal and Odisha.

Which of the statements given above is/are correct ?

(@) (1)only (b)  (2) only () Both(l)and (2) (d) Neither (1) nor (2)

zﬁarsmanmésu‘rﬁ, 558 M & Qe ofk 1116 @reT & 919 GHE dfgedl & =1 I18d §1 59 el 96
mﬂﬁw-mdﬁlﬁmmﬁuﬁﬁﬁﬁmwmﬁuﬁsﬁml AR

tfaRe Y g G 1 8 ?
(@) 8 (bt (c) 14 (d) 16 ;

Ramesh wants to plant 372 tomato plants, 558 chilli plants and 1116 onion plants in equal rows. Also,‘q.
he wants to make distinct rows of each plant, i.e. every row should have only one kind of plants.

What are the minimum number of rows that are required ? 2

(a) 8 (by' 11 (c) 14 (d) 16

Aefatag 4 3 frg Rivka & gates <Ay 3 Fat & wifee sfer ofk Ta & Hifa e Rgidal &
i 3R O ga Sxa el g e 2

(@ “mfREfamar ¢ (b) SR AW

(c) el e A (d) Tl giettels HAe

In which of the following judgments, Supreme Court held that the harmony and balanc
between Fundamental rights and Directive principles of State policy is part of basic structure ?

@ Bhim Singhji Case (b) Indira Sawhney Case
(c) Minerva Mills Case (d) Kihoto Hollohon Case
PG-01/B 2 ;
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g i 01 e e e S o =

Y

LT

14.

15.

16.

&) P,QamaEEd b) P, Q@ IER { C@

fore g o7 750 &
syt ard i e &
g RaTAE?

mmﬁawg@mﬂaﬂzﬁlﬁaﬁmﬁaﬁzwzmﬂamm
ésmmmg.mm,ﬁaﬁmaﬂizsrﬁamérﬁﬁaﬁm

AT &1 afa &, a8 ard 3R g1 @ 3R 40 Hiex werar @1y fiig @ 9/ a6
(a) aféyor-ufgm (b) f&or (€) Ier-ufgm d) af@o-E

faces North initially. Turning to his right he walks 25 metres. He then turns to his left and

walks an . |
other 30 metres. Next, he moves 25 metres to his right. He then turns to his right again and
h direction is he Now, s~

;Nalks 55 metres, Finally, he turns to the right and moves 40 metres. In whic
rom the starting point ? | . Z@
)  South-W
est (b) South (c) North-West (d) South-kast G/f'\b(?.:g_:w’

] E .
i - \RxO qu
mﬂa‘ﬂ;‘ﬂ’fam-m, g1 i fter, # 108 1 wed) 7€ &1 &R R e aifery # HYH &g @ A /?\a“"
et atarg & eiret S & qereT 7 SR 7 # gk e § a2 8 7 ng"’\\A’ oA,

(a 18
; ) (b) 36 (©) 45 @) AR AT
: .
three coloured boxes - Red, Green and Blue, 108 balls are placed. There are tw ice as many balls

in the gree ;
¢ therger n_and red boxes combined as there are in the blue box and twice as many in the blue box
are in the red box. How many balls are there in the green box ?

(@) 18 (by 36 () 45 (d) None of the above
2 & 7€ TR & eEgES g3 e b A
A+Barafg'A Bafard'l \ Q\O: ?F"ﬂ :

A-BaT IR A, BRTAE) ﬁ?ckp\c g Fl ful oy
VO M T 2
A+Bar 3 g'A, BRIAE \*%76\ ” Q \Q_de@d,\ Q

R P x R - Q, at freifof@a & &t &1 9 g1 <feg 2 e
; | P

() P,Q@&ETENE d P Q@ g
Read the information given below carefully. (é} Y
A + B means ‘A is father of B'. o e
A - B means ‘A is wife of B'. | i g e
A x B means ‘A is brother of B'. : iK% G %

& s | : | 5§50
A + B means ‘A is daughter of B. o=
If P x R - Q, then which of the following must be true ?
(@@ Pis brother-in-law of Q (b) P isbrother of Q S
(c) Pisuncle of Q (d) Pis father of Q

5 RT.0.
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10. mwmwwm(mﬁﬁmyﬁmﬁwmmﬁwaﬁ;

1%,

12.

13.

(1) a i e el RAEHTR ST 3 e R 3 ofeter g aifafees Fa 8l

) mmmimﬁmmgmmmﬁmmmﬁmmm
wq: G901 AT gl

SR Ry g FuAl 7 @ 3 91/Q w9 R/ 2

(@) e (1) (b) & (2) @ @)sR@EaE (&) TaA)MRAEH Q)

Consider the following statements with reference to the National Commission for Protection of

Child Rights (NCPCR) :
(1) Itis a statutory body under the administrative control of the Ministry of Women & Child

Development.
It inquires into violation of child rights and takes suo-motu notice of matters relating to

deprivation and violation of child rights.

Which of the statements given above is/are correct ?
@ (1) only (b)  (2) only () Both (1) and (2) (d)

TS FURETET & FHRT, T A 7 et deam a6 @ 1o g & aorm, 39 G@ A 9 § R v R
AT aRom # wfaer 3 1 8, Srfa et o & wfem hwu A e A d ?

Owing to some negligence, instead of multiplying a number by 6, a person divided that number by
9. What is the percentage error in the obtained result, i.e. the error as a percentage of the correct

value ? O\ G
(@) 98.14% (b) 88.28% (c) 80.8% (d) 96.66% b .
& /
| % d )
d)

Refaf@a siwen & qw ve 71 i) )
i (0
K, H

()

Neither (1) nor (2)

Find out the missing terms in the following series.

ADLSET?2
@ GN ®) E]J o LG (
Pl gl R AR & -
WiTiferes Tah (STTarg) e BEE
(a) | ShEHTS Boal | IR
(b) | 3% v doersey | Srevmae R
(c) | Siier azq BE S
Sl 3 @ e g ol gt B2 5, s 4 i |
(@) Has T (b) awat (© @ eo(d) o wE o

Consider the following pairs:

Geographical Indications (GI) tag | : | State
(a) | Kandhamal Haldi : | Rajasthan ;
(b)| Idu Mishmi Textiles Arunachal Pradesh
(c) | Joha Rice : | Odisha
How many of the above pairs are correctly matched? -
(@) Only one (b) Only two (c)  All three (d) None

PG-01/B & T



x T
e e RN
HTYSHTT WRA-TurE orer oy avaran (val-dhomstoeard) & e o, fr=faf@a @ ol

(1)  ug Ry o gad gy gt R Ot @ dQar s 8

: _ arrelT? U tﬁ[ TI_E-F?“
(2)  GYorn & ferfe smnfefal 6 qEEr aEniov-onfifes o sror, 2011 & AT

() T wrey yrftaor (gagEy) e st g Aee gord @

HUR QG 1Q wut @ el e @@ @ 2

(@) & (1) 3R (2) (b) e (2) sk (3)

(© & (1) iz (3) L tm/ (1), (2) 3R (3)

With reference to Ayushman Bharat- Pradhan Mantri Jan Arogya Yojana (f’\”'IJMJAY}’ COnRII
the Iollu\\'ing statements :

(1) It is the world's largest government-funded healthcare program.

: he s el s : ox St , Socio- Economic
(2)  The beneficiaries under the scheme have been identified on the basis of the Soci { ~

Caste Census, 2011. -/\

(3) National Health Authority (NHA) is the nodal agency for its implementation.
Which of the statements given above are correct ? Q I‘ \

: . A
(@ (1) and (2) only (b) (2) and (3) only ‘W J VI
X N
(@ (1), (2)and @) W sk

() (1) and (3) only

4ﬁﬁﬁmwwmﬁmmwmﬁﬁﬁmzéﬁﬁwaﬂwﬁﬁ%’%§mﬁw
o forger & snaaehar giift ?

How many gold cylinders of radius 12 cm and height 7 cm need to be melted to make a gold cube

of side4cm ? rar 67 M f:\ mﬂf
o3 ) 1 @ 2iEEERZ@Sy S 4 Y o

_ = :
1 ,,\, A ‘,
24. 15 37T 1947 ot i &1 e 9T ?

(a) SERAR (b) TRAR (€ fFErR '&(d)\\

& A

What was the day on 15" august 1947 ?

(a‘)/ Friday (b) Thursday (c) Saturday (d) Tuesday
- P.T.O.
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18,

19.

20.

74

~—————— 32 oD
- 1o & N0 e
100 #fez Y &z &, ™, m#:’,o:ﬂaam@maﬁma A arom 13 ST ST & TR Ty gy
‘lﬂlﬂlﬂa’%?IUﬁﬂﬁwﬁmwm%ﬁ'a}wmwéﬁﬁmmwg? |
In a 100 metres race, Gagan starts 30 metres ahead of Raja, but Raja wins the r.ace f-\'hile Gagan if,; still
10 metres behind. If both start running at the same time, then what is the ratio ot the speeds of Raja
and Gagan ?
@ 2:3 (b) 4:3 © 5:3 (d)

TSfie 5 T 1 R O A U 2 e o bt st e & ot oo SR B a1 Rente (4) an
U T AT ? e 5 e 1N
Which function in a spreadsheet inserts a combo box on one or more data columns that lets yoy
select the records (rows) to be displayed ?

(@)  Auto Filter (b) Freeze (c) Hide (c[j ’ Swap

3:9

Waﬁmmﬁqﬁaﬁﬁmmﬁw-wmsmﬁﬁlH*ﬁaqm’ffﬁrg?a‘ﬁnammm
iﬁ'qﬁmmﬁﬁﬂam&@ﬁmﬁggmmgﬁ’;ﬁmmﬂﬁmﬂwm?-'IT?
(@ %.100 (b) %.110 (© %.140 (d) %.170

Suman received 5 gifts from her friends in her birthday party one by one. The total cost of all gifts
was Rs. 1000. If the cost of each 8ift was Rs. 30 less than its preceding gift, then what was the value
of the least expensive gift ? S e

(@) Rs.100 (b) Rs.110 () Rs.140 (d) Rs.170

S 1 Vo
B &9 & wlee s 9, 3 4 efe s s ol g i 22 1O - 28
In the Font group of the Home tab, which symbols indicate Subscript and Superscript respectively ?
a) Xyand X2 (b) X2and X, (c) X2and2X (d) 2Xand X2

U fohett =maret @t 9% BT TR 3R Ueh favett 718 1 13% S TR AT WA Ht 9 30& o A ghar 21 AR A
T Rl ST 9% ST R ofe s fal g 7% o T3, 4159 16 2 o e 21 e 4.

A HFYTTIR? = e
(a) T & T AT 20% < g & e v 4% g

(b) =T & He & 20% > A F g AT 4% o = 3

(c)  =Taet & Hed & 20% = g & Teq FT4% | =2 :
(), Fraffa 7 s o1 Q0 1ol

le .
On selling one kg rice at 9% loss and one kg wheat at 13% gain, Naved gains Rs. 9. If he sells one kg
rice at 9% gain and one kg wheat at 7% gain, he gains Rs. 16. Which of the following is true ?

(@) 20% of the price of Rice < 4% of the price of Wheat
(b)  20% of the price of Rice > 4% of the price of Wheat
(c)  20% of the price of Rice = 4% of the price of Wheat
(d) Cannot be determined

PG-01/B § i7g



R ——
2675 A

o ]

mam:ﬁsﬂums%qasmammﬁmmgaﬁlgmﬁ#ﬁiﬁaﬁﬁmaﬁ e

25,
5 Rt # o FeRd 81 wmmmmhmmwaﬁwmmmmﬂmwa?
@) 1 8:2 (by 231 ©) 4.7 (d) 3:1
13 men and 24 boys can do a piece of work in 4 days, while 12 men and 16 boys can do the same in
5 days. What is the ratio of the daily work done o a’man to that done by a boy ?
(a) 3:2 ‘(‘5{2:1 ) 4:7 (d) 3:1 S
(“ m*’)""‘@’ 268 g
2. o et Sfae A dve A AL AR RRTaAT? 2 Y o O O
\$ =
How do you align text to the center in a document ? ~ad 2:.__
24 [

8)" (Cul+C B Curl+E (0 Gtritl L (d) = Ctrl+R

27. e o wu A farre 3 AR 5 wiRke & 135, 128, 155, 230 3R 162 T TG | A IHDT SAIAT TR o6 18 |
e ol e 4 7 g T A P A g A a2 AL

\2- %

(a) TRl U F §=TY Y T 180 & 135S

/({emaﬁtnﬂﬁmrrq 186 bl
E 6/ le>
(c)  3Tet URt | §97TQ 7Y 37 190 &1

(d)  STTell UTE & §91Y 7T 3 184 B

In a cricket world cup, Virat scored 135, 128, 155, 230 and 162 runs in 5 consecutive innings. If
his next innings his average score increased by 4 runs, then which of the following is correct ?

(@) Runs scored in the next inning is 180.
(b) Runs scored in the next inning is 186.
(c) Runs scored in the next inning is 190.

(d) Runs scored in the next inning is 184.

T

I,f/ 8
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